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5 Mark and Naomi share $600  in the ratio Mark : Naomi = 5 : 1. 

 

 Calculate how much money Naomi receives. 

 

 

 

 

 

 Answer $   [2] 

 

 

6 Calculate the area of a circle with radius 6.28 centimetres. 

 

 

 

 

 

 

 Answer  cm
2

[2] 

 

 

7 The scale on a map is  1 : 20 000. 
 

 Calculate the actual distance between two points which are 2.7 cm apart on the map. 

 Give your answer in kilometres. 

 

 

 

 

 

 

 

 

 Answer  km [2] 

 

 

8 (a) Find m when  4
m

 × 4
2

 = 4
12

. 

 

 

 

 

 

 

 Answer(a) m =   [1] 

 

 

 (b) Find p when   6 p ÷ 67  =  62. 
 

 

 

 

 Answer(b) p =   [1] 
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8 A meal on a boat costs 6 euros (€) or 11.5 Brunei dollars ($). 

 

 In which currency does the meal cost less, on a day when the exchange rate is €1 = $1.9037? 

 Write down all the steps in your working. 

 

 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

 

9 Simplify 32x 8 ÷ 8x 32. 
 

 

 

 

 

 

 Answer   [2] 

 

 

 

10  

C

B
A 17 cm

9 cm
NOT TO
SCALE

 

 

 In the triangle ABC, AB = 17 cm, BC = 9 cm and angle ACB = 90°. 

 

 Calculate AC. 

 

 

 

 

 

 

 

 

 

 Answer AC =  cm [3] 
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8 A lake has an area of 63 800 000 000 square metres. 

 

 Write this area in square kilometres, correct to 2 significant figures. 

 

 

 

 

 

 

 Answer  km
2

 [2] 

 

 

9 (a) Simplify a
–3

 × a
8

. 

 

 

 

 Answer(a)   [1] 

 

 (b) Work out the value of   5
–2

. 

 

 

 

 Answer(b)   [1] 

 

 

10 The number of people, n, who attended a concert was 12 600 to the nearest 100. 
 

 Complete the statement about n. 

 

 

 

 

 

 Answer  Y n I=   [2] 

 

 

11 Keiko travels from Tokyo to London for the Olympic Games. 

 On the internet, a flight costs £767. 

 

 (a) Use the exchange rate  £1 = 143 Japanese Yen to find the cost of the flight in Japanese Yen. 

 

 

 

 

 

 Answer(a)  Yen [1] 

 

 (b) Write your answer to part (a) in standard form. 

 

 

 

 Answer(b)   [1] 

 



Indices 2

4) 

5)

6)

4 

© UCLES 2012 0580/13/M/J/12  

For 

Examiner's 

Use 

8 Work out 

 

 (a) 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

3

5

 − 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

− 2

6

, 

 

Answer(a) 

⎟

⎟

⎟

⎠

⎞

⎜

⎜

⎜

⎝

⎛

 

 

[1] 

 (b) 5
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

− 4

3

. 

 

Answer(b) 

⎟

⎟

⎟

⎠

⎞

⎜

⎜

⎜

⎝

⎛

 

 

[1] 

 

 

 

9 Simplify 

 

 (a) a
0 , 

 

 Answer(a)   [1] 

 

 (b) b
3

 × b
-5 . 

 

 Answer(b)   [1] 

 

 

 

10 During her holiday, Hannah rents a bike. 

 She pays a fixed cost of $8 and then a cost of $4.50 per day. 

 Hannah pays with a $50 note and receives $10.50 change. 

 

 Calculate for how many days Hannah rents the bike. 

 

 

 

 

 

 

 

 

 Answer  days [3] 
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18 (a)  Which two of these have the same value?

5–2            5
2             

2

2
1c m             

2

5
2c m             0.22

Answer(a) ........................  and  ........................  [2]

 (b)  Simplify.

 (i) a6 × a3

 Answer(b)(i)  ...............................................   [1]

 (ii) 24b16 ÷ 6b4

 Answer(b)(ii)  ...............................................   [2]
_____________________________________________________________________________________

19 (a)  Multiply out the brackets.
 5 ( x + 3 )

 Answer(a)  ...............................................   [1]

 (b)  Factorise completely.
 12xy – 3x2

 Answer(b)  ...............................................   [2]

 (c)  Solve.
 5x – 24 = 51

 Answer(c) x =  ...............................................   [2]
_____________________________________________________________________________________

Question 20 is printed on the next page.

8
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16 (a)  Simplify the expressions.

 (i) p 
3  ×  p 

7

 Answer(a)(i)  ................................................   [1]

 (ii) t 
5  ÷  t 

8

 Answer(a)(ii)  ................................................   [1]

 (b) (h3)k = h12

  Find the value of k.

 Answer(b) k =  ................................................   [1]
__________________________________________________________________________________________

17

OP R

Q

17 cm
9 cm

NOT TO
SCALE

  The diagram shows a circle, centre O.
  P, Q and R are points on the circumference.
  PQ = 17 cm and QR = 9 cm.

 (a)  Explain why angle PQR is 90°.

 Answer(a)  ...........................................................................................................................................

  .............................................................................................................................................................   [1]

 (b)  Calculate the length PR.

 Answer(b) PR =  ..........................................  cm  [2]
__________________________________________________________________________________________
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1  Simplify the expression.
 p + p + p + p

 Answer  ................................................   [1]
__________________________________________________________________________________________

2  Calculate  2
16

1.3

3

 .

 Answer  ................................................   [1]
__________________________________________________________________________________________

3  Write down in fi gures

 (a)  three hundred and forty thousand,

 Answer(a)  ................................................   [1]

 (b)  the number that is one less than one million.

 Answer(b)  ................................................   [1]
__________________________________________________________________________________________

4  Write the following numbers in order, starting with the smallest.

11
5                 0.2                 45.4%                20

9

 

Answer ...................... < ...................... < ...................... < ......................  [2]
__________________________________________________________________________________________
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26 (a) Factorise completely.
 15a3 – 5ab

 Answer(a)  ................................................   [2]

 (b)  Simplify.
 3x2y3 × x4y

 Answer(b)  ................................................   [2]

 (c)  Multiply out the brackets and simplify.
 3(x – 2) – 4(2x – 3)

 Answer(c)  ................................................   [2]

 (d) Solve the equation.
 8x + 9 = 3(x + 8)

 Answer(d) x =  ................................................   [3]
__________________________________________________________________________________________

3
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4 p = 16.83
4.8 1.98276#

 (a)  In the spaces provided, write each number in this calculation correct to 1 signifi cant fi gure.

 Answer(a)
............ × ............

............
[1]

 (b)  Use your answer to part (a) to estimate the value of p.

 Answer(b)  ................................................   [1]
__________________________________________________________________________________________

5  Write the following in order of size, smallest fi rst. 

0.52            0.5            0.53            0.53

Answer ..................  <  ..................  <  ..................  <  ..................  [2]
__________________________________________________________________________________________

6  Carlo changed 800 euros (€) into dollars for his holiday when the exchange rate was €1 = $1.50 .
  His holiday was then cancelled.
  He changed all his dollars back into euros and he received €750.

  Find the new exchange rate.

 Answer €1 = $ .................................................   [3]
__________________________________________________________________________________________
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17 (a) Simplify   (3125t 
125

)

1
5
.

 Answer(a)  ................................................   [2]

 (b)  Find the value of p when 3
p = 

9

1
.

 Answer(b) p =  ................................................   [1]

 (c)  Find the value of w when  x72
 ÷ xw

 = x8
.

 Answer(c) w =  ................................................   [1]

__________________________________________________________________________________________

18

NOT TO
SCALE

  The two containers are mathematically similar in shape.

  The larger container has a volume of 3456 cm
3
 and a surface area of 1024 cm

2
.

  The smaller container has a volume of 1458 cm
3
.

  Calculate the surface area of the smaller container.

 Answer  .........................................  cm
2
  [4]

__________________________________________________________________________________________


